I 700 om2 = 7 M2
| 1437 cm?2 = 14 am2 37 cm2

I 30 cm2 = 3000 mm2
2415 mmv2 = 24 cm2 15 mm2
8 AM2 = 800 cm2

46 030 om2 = 460 m2 30 Am2



I YTO Mbl Y3HAIJIN.
YEMY HAYHYUIIUNCD.



I Pa3BuBaTh ...

Llenun ypoka:

ynydwarts ...
3aKkpenuTb ...



|

|

' (15 +45):2*5
= 150



(24+8) * 4 =128
56 — (8*4 + 24) =0
(56 — 24):8 =4

14

(7*4 — 24) =
56 ( * )_28
56: 4* 0 + 28 =,

4*24 — 56: 4 =



60 + (40 — 16) : 4 = 66
(75— 15): 5+ 10=22
(96 — 12 *%6):3=28
24 : (56 — 8 * 4) =1
63 : (9 + 54) =1

64 : (64 — 8 * 4)=2
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Llenun ypoka:
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